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Reasoning 

1. QYK, ?, ISG, EPE. 

(a) NWJ   

(b) MVI 

(c) NVI   

(d) MVJ 

2. BWDV, FUHT, JSLR, ?. 

(a) MPQQ   

(b) NQPP 

(c) HQFN   

(d) ABCD 

3. Arrange the words given below in a 

meaningful sequence. 

1. Probation  2. Interview 

3. Selection  4. Appointment 

5. Advertisement 6. Application 

(a) 5, 6, 3, 2, 4, 1  

(b) 5, 6, 4, 2, 3, 1 

(c) 5, 6, 2, 3, 4, 1  

(d) 6, 5, 4, 2, 3, 1 

4. Arrange the words given below in a 

meaningful sequence. 

1. Presentation 2. Recommendation 

3. Arrival  4. Discussion 

5. Introduction 

(a) 5, 3, 4, 1, 2   

(b) 3, 5, 4, 2, 1 

(c) 3, 5, 1, 4, 2   

(d) 5, 3, 1, 2, 4 

5. Arrange the words given below in a 

meaningful sequence. 

1. Infant  2. Old 

3. Adult  4. Adolescent 

5. Child 

(a) 5, 4, 3, 2, 1   

(b) 3, 4, 2, 1, 5 

(c) 2, 3, 4, 5, 1   

(d) 1, 5, 4, 3, 2  

6. Arrange the words given below in a 

meaningful sequence 

1. Protect  2. Pressure 

3. Relief  4. Rain 

5. Flood 

(a) 2, 4, 3, 1, 5   

(b) 2, 4, 5, 1, 3 

(c) 2, 5, 4, 1, 3   

(d) 3, 2, 4, 5, 1 

7. In a certain code language, OPERATION is 

written as NODQBUJPO. How is INVISIBLE 

written in that code? 

(a) JOWJTJCMF  

(b) JOWJTHAKD 
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(c) HMUHTJCMF  

(d) HMUHTHAKD 

8. If in a code, TRUTH is coded as 

SUQSTVSUGI, then the code for FALSE will 

be 

(a) EGZBKMRDE  

(b) EGZKMRTDF 

(c) EGZBKMRTDF  

(d) FGZBKNRTDE 

9. In a certain code, CONDEMN is written as 

CNODMEN. How is TEACHER written in 

that code? 

(a) TEACHER  

(b) TCAEHER 

(c) TAECHER  

(d) TAEECHR 

10. Frog : Hibernation 

(a) Man : Immigration 

(b) Food : Adulteration 

(c) Bird : Migration 

(d) Frog : Aestivation 

11. 500AB:600CD 

(a) 210TU:310WX 

(b) 510TTU:620WX 

(c) 710PQ:810RS 

(d) 720XY:810YZ 

12. Energy : JOULE 

(a) Axe : Grind 

(b) Ammeter : Current 

(c) Power : Ampere 

(d) Resistance : Ohm 

13. Tehsil : District : State : Country 

(a) Metropolitan : Megapolis : Town : City 

(b) Block : Colony : Zone : City 

(c) Province : District : State : Country 

(d) Madhya Pradesh : Maharashtra : Mumbai 

: Victoria Terminus 

14. Choose the odd one out. 

(a) 99998   

(b) 99989 

(c) 99898   

(d) 98999 

15. Choose the odd one out. 

(a) 98BY   

(b) 77CX 

(c) 55DW   

(d) 33EV 

16. Which is the third number to the left of 

the number which is exactly in the middle of 

the following sequence of numbers? 

1 2 3 4 5 6 7 8 9 7 5 3 1 9 8 7 6 5 4 3 2 1 

(a) 3    
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(b) 5 

(c) 4    

(d) 7 

17. How many such digits are there in the 

number 7346285 which are as far away from 

the beginning of the number, as they will be 

when arranged in ascending order within the 

number? 

(a) None   

(b) One 

(c) Two   

(d) Three 

18. In a queue, Amrita is 10th from the front 

while Mukul is 25th from behind and Mamta 

is just in the middle of the two. If there be 50 

persons in the queue. What position does 

Mamta occupy from the front? 

(a) 20th    

(b) 19th 

(c) 18th    

(d) 17th 

19. Sangeeta remembers that her father’s 

birthday was certainly after eighth but before 

thirteenth of December Her sister Natasha 

remembers that their father’s birthday was 

definitely after ninth but before fourteenth of 

December. On which date of December was 

their father’s birthday? 

(a) 10th   

(b) 11th 

(c) 12th    

(d) Data inadequate 

20. How many such pairs of letters are there 

in the word INSTRUCTION which have as 

many letters between them in the word as in 

the English alphabet? 

(a) One   

(b) Two 

(c) Three   

(d) Four 

21. Number of letters skipped in between 

adjacent letters in the series increases by one. 

Which of the following series observes the 

given rule? 

(a) ACFJO   

(b) AEIMQ 

(c) DINSX   

(d) EHKNQ 

22. In the following questions, an angle the 

given words in the sequence in which they 

occur in the dictionary and then choose the 

correct sequence. 

1. Preach  2. Praise 

3. Predict  4. Precept 

5. Precede 

(a) 2, 1, 5, 4, 3   

(b) 2, 1, 3, 4, 5 
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(c) 2, 5, 1, 4, 3   

(d) 1, 2, 5, 4, 3 

23. Arrange the following words in the 

sequence as you find them in dictionary 

according to the alphabetical order then 

choose the third word of the sequence? 

(a) Invent   

(b) Invitation 

(c) Irritate   

(d) Ignite 

24. It being given that : > denotes +, < denotes 

-, + denotes  , - denotes =, = denotes ‘less 

than’ and   denotes ‘greater than’, find 

which of the following is a correct statement. 

(a) 3 + 2 > 4 = 9 + 3 < 2 

(b) 3 > 2 > 4 = 18 + 3 < 1 

(c) 3 > 2 < 4   8   4 < 2 

(d) 3 + 2 < 4   9   3 < 3 

25. If the given interchanges namely: sings + 

and   and numbers 2 and 4 are made in signs 

and number, which one of the following four 

equations would be correct? 

(a) 2 + 4   3 = 3  

(b) 4 + 2   6 = 1.5 

(c) 4   2 + 3 = 4  

(d) 2 + 4   6 = 8 

 

 

Mathematics 

26. 
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.This property is 

called 

(a) Commutative property 

(b) Associative property 

(c) Closure property 

(d) Distributive property 

27. 
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. This property is 

called 

(a) Distributive property of multiplication 

over addition 

(b) Distributive property of addition over 

multiplication 

(c) Distributive property of multiplication 

and addition 

(d) Associative property 

28. The denominator of a rational number is 

greater than its numerator by 5. If the 

numerator is increased by 10 and the 

denominator is decreased by 3, the new 

number becomes 2. Then the original number 

is 

(a) 
  

 
    

(b) 
 

  
 

(c) 
 

  
    

(d) 
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29. The altitude of a triangle is 
 

 
 the length of 

its corresponding base. If the altitude is 

increased by 2 cm and the base is decreased 

by 1 cm, the area of triangle remains same. 

Find the base and altitude of triangle. 

(a) 1.6 and 1.2  

(b) 1.8 and 1.2 

(c) 1.5 and 1.3  

(d) 1.2 and 1.6 

30. In a parallelogram PQRS, diagonals 

intersect at O. If PO = 4 cm, SO = 2.5 cm, then 

PR and SQ are respectively, equal to 

(a) 5 cm, 8 cm  

(b) 2.5 cm, 4 cm 

(c) 8 cm, 5 cm  

(d) 6.5 cm, 6.5 cm 

31. In a convex quadrilateral 

(a) both diagonals lie inside 

(b) both diagonals lie outside 

(c) one of the diagonals lie outside 

(d) none of the above 

32. If the total amount spent on sports during 

the year was Rs. 2 crores, the amount spent 

on Cricket and Hockey together was 

(a) Rs. 8,00,000  

(b) Rs. 80,00,000 

(c) Rs. 1,20,00,000  

(d) Rs. 4,10,000 

33. If the total amount spent on sports during 

the year was Rs. 1,80,00,000, the amount 

spent on Basketball exceeds that on Tennis by 

(a) Rs. 2,50,000  

(b) Rs. 3,60,000 

(c) Rs. 3,75,000  

(d) Rs. 4,10,000 

34. 129.6 sq m of cloth was sent to a school for 

stitching uniforms to students. If the length of 

cloth is 160 times the breath, find the length 

and breadth of the cloth sent. 

(a) 81 m 1.6 m  

(b) 156 m and 1.1 m 

(c) 144 m and 0.9 m  

(d) 168 m 1.2 m 

35. A General wishes to draw up his 36581 

soldiers in the form of a square. After 

arranging then he found that some of them 

are left out. How many are left? 

(a) 124    

(b) 126 

(c) 100    

(d) 144 

36. A cubical tank contains 3.375 m3 of water. 

If this water is emptied into another cubical 

tank of length of a side 1.6 m, does the tank 
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overflow or fall short of water? By how 

much? 

(a) 0.721 m3 of water overflows 

(b) 0.256 m3 of water overflows 

(c) Tank is short of 0.721 m3 of water 

(d) Tank is short of 0.256 m3 of water 

37. Which of the following statements are 

true? 

(i) Cube of number ending in digits 1, 4, 5 or 

9 ends in same digit 

(ii) Cube of a negative number does not exist 

(iii) Cube of odd natural numbers is odd 

(iv) Cube of even natural numbers is even 

(a) (i), (ii), (iii)  

(b) (i), (iii), (iv) 

(c) (ii), (iii), (iv)  

(d) (i), (ii), (iv) 

38. The sale price of an article including sales 

tax is Rs. 616. The rate of sales tax is 10%. If 

the shopkeeper made 12% profit, the cost 

price of the article is 

(a) Rs. 500   

(b) Rs. 515 

(c) Rs. 550   

(d) Rs. 600 

39. An article is marked 30% above the cost 

price. If the purchaser of the article pays Rs. 

17472, including sales tax at 12%, the cost 

price of the article is 

(a) Rs. 11000   

(b) Rs. 12,000 

(c) Rs. 13,000   

(d) Rs. 15,600 

40. Find the excess of 4(a – b – c) over 3(a + b) 

and subtract 9(a – 2b + bc) from the result. 

The final answer will be 

(a) -8a + 11b – 4c – 9bc 

(b) 8a + 11b – 4c – 9bc 

(c) -8a – 11b – 4c – 9bc 

(d) -8a – 11b + 4c – 9bc 

41. Area of a square of side (2m + 4) units is 

larger than the area of a square of side m + 3 

units by 

(a) m2 – 10m + 7 sq. units 

(b) 3m2 + 10m + 7 sq. units 

(c) –m2 + 10m – 9 sq. units 

(d) m2 + 6m + 9 sq. units 

42. The length and breadth of a rectangle are 

x + 7 units and x + 4 units. If each side is 

reduced by 3 units, then the area of rectangle 

formed reduces by 

(a) 16x + 24 units 

(b) -6x – 24 units 

(c) 6(x + 4) units  
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(d) 6(x – 4) units 

43. A polyhedron can have,  

(a) 10 faces, 20 edges, 15 vertices 

(b) 10 faces, 22 edges, 15 vertices 

(c) 10 faces, 20 edges, 12 vertices 

(d) 10 faces, 22 edges, 12 vertices 

44. A metal pipe has an external diameter of 4 

cm and internal diameter of 3 cm and is 20 

cm long. Then the volume of metal used is 

(a) 22 cm3   

(b) 110 cm3 

(c) 220 cm3   

(d) 440 cm3 

45. Three cubes of side 4 cm each one joined 

end to end. The surface area of the resulting 

cuboid end total surface area of the three 

cubes are in the ratio 

(a) 9 : 7   

(b) 7 : 9 

(c) 7 : 3   

(d) 1 : 1 

46. A flagpole 17.5 m high casts a shadow of 

length 40.25 m. The height of the building, 

which casts a shadow of length 28.75 m 

under similar conditions, will be 

(a) 10 m   

(b) 12.5 m 

(c) 17.5 m   

(d) 21.25 m 

47. One tap can fill a tank in 2 hours and 

another tap can empty it in 3 hours. How 

long will they take to fill the tank if both the 

taps are opened, when the tank was empty? 

(a) 8 hours   

(b) 10 hours 

(c) 4 hours   

(d) 6 hours 

48. On a scale of map, 0.6 cm represents 6.6 

km. If the distance between the points on the 

map in 80.5 cm, the actual distance between 

these points is 

(a) 9 km   

(b) 72.5 km 

(c) 190.75 km   

(d) 885.5 km 

49. Ram and Sham can do a work in 36 days. 

Both work for 4 days and then Ram goes 

away. Sham finishes the remaining work in 

48 days. In how many days can Sham finish it 

working alone? 

(a) 10 days   

(b) 9 days 

(c) 45 days   

(d) 54 days 
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50. A work can be completed by a certain 

number of workers in 100 days. If 10 workers 

are less it will take 10 more days. Find the 

number of workers. 

(a) 100    

(b) 200 

(c) 110    

(d) 150 

General knowledge 

51. A rectangular iron block is kept over a 

table with different faces touching the table. 

In different cases, the block exerts: 

(a) Same thrust and same pressure 

(b) Same thrust and different pressure 

(c) Different trust and same pressure 

(d) Different thrust and different pressure 

52. An iron block of sides 5 cm   8 cm   15 

cm has to be pushed along the floor. The 

force required will be minimum when the 

surface in contact with ground is 

(a) 8 cm   15 cm surface 

(b) 5 cm   15 cm surface 

(c) 8 cm   5 cm surface 

(d) Force is same for all surfaces 

53. Which of the following is correct. 

(a) Static friction < Rolling friction < Sliding 

friction 

(b) Rolling friction > Static friction < Sliding 

friction 

(c) Static friction > Sliding friction > Rolling 

friction 

(d) Sliding friction < Static friction < Rolling 

friction 

54. Plastic products are identified by the use 

of some special numbers. These numbers 

represent for 

(a) Electrical conductivity of plastic product 

(b) Thermal resistance of plastic product 

(c) Durability of plastic product 

(d) Recycling of plastic product 

55. Which of the following names represents 

the foul smelling, black, thick, viscous liquid 

obtained from destructive distillation of coal? 

(a) Coke   

(b) Coal tar 

(c) Coal gas   

(d) None of these 

56. Which of the following is not a necessary 

combustion to take place are 

(a) Presence of combustible substance. 

(b) Presence of a supporter of combustion 

(c) Attainment of ignition temperature of the 

fuel. 

(d) Presence of carbon dioxide. 
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57. The main object of Man and Biosphere 

programme is to 

(a) Conserve representative samples of 

ecosystem 

(b) Provide opportunities for education and 

training  

(c) Provide appropriate sustainable 

managements of the living resources. 

(d) All the above 

58. We can conserve biodiversity by 

(a) Planting of trees should be undertaken 

(b) Hunting of animals which is banned 

should be strictly enforced. 

(c) Protected areas like National Parks, 

Wildlife sanctuaries and biosphere reserves 

should be established. 

(d) All the above. 

59. Nucleus is separated from surrounding 

cytoplasm by a nuclear envelope which is- 

(a) Single and porous 

(b) Double and porous 

(c) Single and nonporous 

(d) Double and nonporous 

60. What is main reason of female gamete 

having large size? 

(a) To increase the chances of meeting of male 

gamete with female gamete. 

(b) To decrease the chances of meeting of 

male gamete with female gamete. 

(c) For implantation of embryo 

(d) None of the above 

61. During in-vitro fertilization, the process of 

fertilization, occurs in 

(a) Uterus 

(b) Fallopian tube 

(c) Test tube in laboratory (outside the body) 

(d) Water (outside the body) 

62. Yeast are economically important because 

they 

(a) Spread plant disease 

(b) Spread animal disease 

(c) Are used in tea and tobacco industry 

(d) Are used in wine and baking industry 

63. Historian have divided history into broad 

time periods on the basis of some distinctive 

characteristics. This is called- 

(a) Classification  

(b) Periodisation 

(c) Division   

(d) None of these 

64. Which of the following statements about 

the Fourth Mysore War is incorrect. 

(a) Tipu Sultan was defeated and killed and 

his family was exiled 
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(b) The Nizam helped Tipu 

(c) The British annexed parts of Mysore and 

restored the rest to the Wodeyar family 

(d) The Nizam got a share of the British 

conquests 

65. This system was adopted because it was 

felt that since there were no intermediaries 

such as the zamindar, the revenue collected 

would be higher. 

(a) Permanent settlement 

(b) Ryotwari settlement 

(c) Mahalwari settlement 

(d) Ijaradari system 

66. Which of the following statements 

regarding the Constitution is incorrect? 

(a) it provides a framework of laws 

(b) it guards the fundamental rights of the 

people 

(c) it is less important than statute law 

(d) it regulates the functioning of the 

government 

67. During school functions or other official 

events or in books and movies, they are 

invariably portrayed in colourful costumes, 

headgear and through their dancing. 

(a) Adivasis   

(b) Low castes 

(c) Higher castes  

(d) None of these 

68. Food processing, vegetable oil, cotton 

textile, dairy products and leather industries 

are examples of 

(a) agro-based industries 

(b) mineral based industries 

(c) marine based industries 

(d) forest based industries 

69. Another tradition of art that became 

immensely popular in colonial India was 

(a) Portrait painting 

(b) Colonial Oil paints 

(c) Wood block printing 

(d) Cloth painting 

70. The celebration of British military 

triumph can be seen in the many paintings of 

the battle of 

(a) Seringapatam  

(b) Murshidabad 

(c) Delhi   

(d) Kolkata 

71. Who argued that colonial education 

created a sense of inferiority in the minds of 

Indians? 

(a) Rabindranath Tagore 

(b) Mahatma Gandhi 

(c) Jawaharlal Nehru 
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(d) Raja Ram Mohan Roy 

72. In the 20th century, which of the following 

leaders lent their support to demands for 

greater equality and freedom for women? 

(a) Jawaharlal Nehru 

(b) Subhash Chandra Bose 

(c) Both (a) & (b) 

(d) None of these 

73. Marginalised groups are denied rights 

and access to resources and generally pushed 

to the …….. of the society. 

(a) edge   

(b) margins 

(c) out of town limits  

(d) periphery 

74. Students applying to educations 

institutions and those applying for posts in 

government are expected to furnish proof of 

their 

(a) caste status  

(b) tribe status 

(c) both a and b  

(d) none of these 

75. If a particular Dalit caste or a certain tribe 

is on the government list, then a candidate 

from that caste or tribe can avail of the benefit 

of 

(a) Article 17   

(b) Status 

(c) Reservation  

(d) Money 

English 

Directions (76 – 80): Choose the most 

appropriate option to fill in the blanks. 

76. A person inexperienced in a field 

(a) Ambassador  

(b) Novice 

(c) Eccentric   

(d) Pessimist 

77. They saw a ________ of lions at the zoo. 

(a) proud   

(b) pride 

(c) prayed    

(d) group 

78. My brother and I bought _________ some 

apples. 

(a) herself   

(b) himself 

(c) ourself   

(d) ourselves 

79. I need lots of information about India. 

Have you got _________? 

(a) everything  

(b) anything 
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(c) something  

(d) nothing 

80. ________ wants to go swimming at the 

beach when the weather is nice. 

(a) Everyone   

(b) Someone 

(c) No one   

(d) Anyone 

81.  Identify the type of underlined pronoun 

in the sentence given below and choose the 

correct option. “Why are you afraid of 

them?” 

(a) Reciprocal pronoun 

(b) Personal pronoun 

(c) Possessive pronoun 

(d) Demonstrative pronoun 

82. Aman’s school report was _______ last 

term’s 

(a) not good as  

(b) not good than 

(c) not as good  

(d) not as good as 

83. I don’t like ________ one in my office. 

They’re all horrible. 

(a) little   

(b) less 

(c) some   

(d) any 

84. A person is known by the ________ he 

keeps. 

(a) company    

(b) tools 

(c) friends   

(d) awards 

85. India got freedom _________ the 

Britishers in 1947. 

(a) for    

(b) against 

(c) with   

(d) from 

86. To marvel at something is to 

(a) drink it 

(b) look with intence amazement at it 

(c) throw rocks at it 

(d) draw it 

87. My father is ______ very late these days. 

He never comes home before 10 o’ clock. 

(a) thinking   

(b) using 

(c) waiting   

(d) working 

88. Tell which pair is synonym out of the 

following. 
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(a) Happy, unhappy  

(b) Agree, disagree 

(c) Noisy, quiet 

(d) Huge, gigantic 

89. Arrange the following in the correct 

order: walk, run, crawl, skip 

(a) run, skip, walk, crawl 

(b) crawl, walk, skip, run 

(c) skip, crawl, run, skip 

(d) walk, skip, run, crawl 

90. The computer ________ in the 2000s; but 

much earlier. 

(a) wasn’t invent 

(b) weren’t invited 

(c) wasn’t invented 

(d) wasn’t inventing 

91. A treat ________ to celebrate the 

wonderful news. 

(a) was gave   

(b) was give 

(c) was giving  

(d) was given 

92. _______ girl who was crowned ‘Miss 

World’ is an Indian. 

(a) The   

(b) An 

(c) A    

(d) None of these 

Directions (93 – 100): Read the passage given 

below and answer the questions that follow. 

The children of L.S. Vidyalaya, had a 

wonderful time yesterday. They were 

captivated by the speed, agility and 

showmanship of magician, Kim Rathod. The 

children watched him spell-bound for two 

hours. All that broke the silence was a gasp of 

astonishment of the sound of spontaneous 

applause, appreciating a trick. 

Out of his magic wand came flowers, ribbons 

and garlands of every possible colour and 

seemingly unending length. It came in such 

quick succession that everyone was left 

gasping. One or two young children came up 

to examine the thin stick wondering how it 

could hold so much. 

They were really frustrated as if the was not 

magical enough. He made a rabbit pop out of 

an empty wooden box. It went hopping 

around the stage. It was soon put back into 

the box and seconds later, he pulled out a rat, 

soft, white and squeaking. The little ones 

seemed a little frightened by this while the 

others clapped and cheered loudly. This was 

the grand finale. 

The children did not want it to end. They 

shouted ‘encore’, ‘once more’. But Kim gave 

them a bright smile and vanished from the 
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scene. The children were left searching here 

and there for him. Then they walked out 

excitedly recounting what they had seen and 

how wonderful it was. One of the boys Rajan 

declared loudly, it was the best magic show 

of the century! 

93. What is the magician’s name? 

(a) L. S. Vidayalaya 

(b) Kim Rathod 

(c) Rajan 

(d) Kiran Rathod 

94. What is the meaning of ‘captivated? 

(a) Astonished  

(b) Honoured 

(c) Arrested   

(d) Angered 

95. What is the meaning of ‘spontaneous’? 

(a) At once   

(b) Always 

(c) Never   

(d) Continuous 

96. What is wand? 

(a) A Stick   

(b) A Cloth 

(c) A Hat   

(d) A Box 

97. What is the meaning of ‘hopping’? 

(a) Running   

(b) Jumping 

(c) Standing   

(d) Singing 

98. What does ‘encore’ mean? 

(a) Never   

(b) Try 

(c) Once more  

(d) Now 

99. What did Kim do in the end? 

(a) Performed the act once again 

(b) Smiled and vanished 

(c) Never performed the trick 

(d) Sat down 

100. What does century mean? 

(a) Period of one year 

(b) Period of ten years 

(c) Period of fifty years 

(d) Period of hundred years 

 



Answer Key 

1(b) 2b) 3(c) 4(c) 5(c) 6(b) 7(c) 8(c) 9(a) 10(b) 

11(a) 12(d) 13(b) 14(b) 15(a) 16(c) 17(d) 18(c) 19(d) 20(d) 

21(a) 22(a) 23(b) 24(c) 25(d) 26(b) 27(a) 28(d) 29(a) 30(c) 

31(a) 32(b) 33(a) 34(c) 35(c) 36(c) 37(b) 38(a) 39(b) 40(a) 

41(b) 42(c) 43(c) 44(b) 45(b) 46(b) 47(d) 48(d) 49(d) 50(c) 

51(b) 52(d) 53(c) 54(d) 55(b) 56(d) 57(d) 58(d) 59(b) 60(a) 

61(c) 62(d) 63(b) 64(b) 65(b) 66(c) 67(a) 68(a)  69(a) 70(a) 

71(b) 72(c) 73(b) 74(c) 75(c) 76(b) 77(b) 78(d) 79(c) 80(a) 

81(b) 82(d) 83(d) 84(a) 85(d) 86(b) 87(d) 88(d) 89(b) 90(c) 

91(d) 92(a) 93(b) 94(c) 95(a) 96(a) 97(b) 98(c) 99(b) 100(d) 
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